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Questions
1. The natural greenhouse effect above is described using three sentences on the diagram. Summarise this information in one sentence which accurately describes the natural greenhouse effect.
____________________________________________________________________________________________________________________________________________________________
2. If the greenhouse gases did not exist what would the climate on earth be like?
____________________________________________________________________________________________________________________________________________________________
3. If water vapour causes most of the global warming why are we so worried about CO2 gas?  
____________________________________________________________________________________________________________________________________________________________
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m The natural greenhouse effect

The atmosphere processes radiation from the sun or
from the Earth just like the glass walls of a greenhouse
for plants: it allows most of the short-wave solar radiation
to pass through, but largely absorbs long-wave terrestrial
radiation. This htext looks grey in pdf editeats the air in
the greenhouse. However, If sunrays were reflected
unhindered into space as heat rays, the Earth would
become an uninhabitable ice desert with none of the
oceans, seas and rivers which it now has.
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The global mean temperature would be -18 °C rather
than +15 °C. Two-thirds of this approximately 33 °C
difference in temperature brought about by the natural
greenhouse effect s attributable to atmospheric
vapour. The rest is made up of carbon dioxide (21%)
and to a lesser extent trace gases and aerosols. Both
the atmospheric concen-tration of greenhouse gases
and the global mean tem-perature are subject to
natural fluctuation.

Sunlight passes through the atmosphere
and warms the Earth’s surface.

This heat is radiated back toward space.

Most of the outgoing heat is absorbed by
greenhouse gas molecules and re-emitted
in all directions, warming the surface of
the Earth and the lower atmosphere.
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The natural greenhouse effect

The atmosphere processes radiation from the sun or
from the Earth just like the glass walls of a greenhouse
for plants: it allows most of the short-wave solar radiation
to pass through, but largely absorbs long-wave terrestrial
radiation. This heats the air in the greenhouse. However,
if sunrays were reflected unhindered into space as heat
rays, the Earth would become an uninhabitable ice desert
with none of the oceans, seas and rivers which it now has.

The global mean temperature would be -18 °C rather than
+15 °C. Two-thirds of this approximately 33 °C difference
in temperature brought about by the natural greenhouse
effect is attributable to atmospheric vapour. The rest is
made up of carbon dioxide (21%) and to a lesser extent
trace gases and aerosols. Both the atmospheric concen-
tration of greenhouse gases and the global mean tem-
perature are subject to natural fluctuation.

(Source: Bauer, J. et al. (2001): Physische Geographie. Materialien fir den Sekundarbereich Il Geographie. Hannover, p. 81, significantly modified and supplemented.)





